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QUESTION 1

The following SAS program is submitted: 

%let first = yourname; 

%let last = first; 

%put andandandlast; 

Which one of the following is the result in the log of the %PUT statement? 

A. first 

B. andfirst 

C. yourname 

D. andyourname 

Correct Answer: C 

 

QUESTION 2

Given the SAS data sets shown on the left, the SAS program on the right is submitted. 

What will be the result when this program is executed? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: C 

 

QUESTION 3
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Given the following SAS data sets ONE and TWO: 

ONE TWO NUM COUNTRY NUM CITY 

1 CANADA 3 BERLIN 

2 FRANCE 5 TOKYO 

3 GERMANY 4 BELGIUM 

5 JAPAN 

The following SAS program is submitted: 

proc sql; 

select country 

from one 

where not exists 

(select * 

from two 

where one.num = two.num); 

quit; 

Which one of the following reports is generated? 

A. COUNTRY GERMANY JAPAN 

B. COUNTRY FRANCE BELGIUM 

C. COUNTRY CANADA FRANCE BELGIUM 

D. COUNTRY CANADA FRANCE GERMANY 

Correct Answer: C 

 

QUESTION 4

Which one of the following is an advantage of creating and using a SAS DATA step view? 

A. It can store an index. 

B. It always accesses the most current data. 

C. It works quickly through multiple passes of the data. 

D. It is useful when the underlying data file structure changes. 

Correct Answer: B 
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QUESTION 5

The variable attributes of SAS data sets ONE and TWO are shown below: 

ONE TWO 

# Variable Type Len Pos # Variable Type Len Pos 

2 sales Num 8 8 2 budget Num 8 8 

1 year Num 8 0 3 sales Char 8 16 

1 year Num 8 0 

Data set ONE contains 100 observations. Data set TWO contains 50 observations. Both data sets are sorted by the
variable YEAR. 

The following SAS program is submitted: 

data three; 

merge one two; 

by year; 

run; 

Which one of the following is the result of the program execution? 

A. No messages are written to the SAS log. 

B. ERROR and WARNING messages are written to the SAS log. 

C. Data set THREE is created with two variables and 50 observations. 

D. Data set THREE is created with three variables and 100 observations. 

Correct Answer: B 
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